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; 100kN/mM##8Z % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mM%Z#BZ % — - ~ — — |3m%#BZA S - ~ — — —
ZznLst 1.00 | 0.00 ~ 685 86.66 | st | 0oo ~ 000\ 1.69 8.05 Zhs 1.00 | 5.00 ~ 9.20 86.66 | Ths | 5.00 ~ 9.20 | 1.69 8.05
2 100kN/mM#%#8Z % — -~ = —|3mZEBZzB| — ~ — — — | 100kN/mM%Z#8Z % — - ~ — — |3m%#BZA S - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.29 79.10 | =S | 000 ~ 0.00] 1.59 8.06 Zzh st 1.00 | 5.00 ~ 7.90 79.10 | =nlst | 600 ~ 7.90 | 1.69 8.06
3 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.29 79.10 | =LY | 000 ~ 0.00] 1.59 8.06 Zzh st 1.00 | 5.00 ~ 7.90 79.10 | =nst | 600 ~ 7.90 | 1.69 8.06
4 100kN/m##8%%5| 1.00| 000 ~ 055 10822 |3mEBZB| — ~ — — — | 100kN/m%#BZ5 | 1.00 | 11.63 ~ 1330 10822 |3mZE#Bz23 - ~ — — —
Zhs 1.00| 055 ~ 834 100.00| Tnds | 000 ~ 834|244 12.31 Zhst 1.00|5.00 ~ 1163 100.00 | Fhs | 500 ~ 1330| 2.44 12.81
5 100kN/mM#%#BZ % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.99 88.58 | #nhst | 0oo ~ 000|167 843 Zzh st 1.00 | 5.00 ~ 8.90 88.58 | #hst | 5.00 ~ 890 | 1.67 843
6 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — - ~ — — |3m%#B2% - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.63 83.62 | #hst | 0oo ~ 000|167 846 Zzh st 1.00 | 5.00 ~ 8.10 83.62 | #hs | 65.00 ~ 810 1.67 8.46
- 100kN/mM#%# 8% % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
LS 1.001 000 ~ 547 68.31 | Thst | 000 ~ 547]1.97 9.98 ZThLlst 1.00|5.00 ~ 6.70 68.31 | =hS | 500 ~ 6.70| 1.97 9.98
s 100kN/mM##BZ 5 — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — — ~ — — |3m%EEZ S - ~ — — —
zhst — — ~ — —| = st -~ — — — zhst — -~ — — | £h st — ~ — — —
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh st ~ ZN LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zzh st ~ ZNLs ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh st ~ ZNLs ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZnList ~ Zh LS ~
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